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(325) SH0EA7E | HE EHa714 Eg= e
Ark(171/300~3509) 2,564 2,037 527 25.88%
Hi (17H/650~700g) 5,152 4,882 270 5.53%
F(17l/1kg) 1,644 1,343 301 22.41%
Hi 2=(1 27| /3kg) 2,442 2,265 177 7.81%
CHitH(15/S/1kg/2E 7HA) 4,085 3,432 653 19.01%
20|(37H) 3,181 2,700 481 17.81%
K| 27| (= 4t/of 8 2/6009) 13,108 13,322 |- 214 -1.61%
SET= SE7|(10H2] /1kg) 6,014 5,866 148 2.52%
(1653) 20 7|(=il/=AHE| K| /1S 33,990 35,180 |- 1,190 -3.38%
2| 07| (= &i4t/LAZH[/6009) 20,215 19,200 1,015 5.29%
=2 (18T 2h/307H) 6,484 4,951 1,533 30.96%
Z7|(10t2|/=4t/15cm) 1,253 1,158 94 8.15%
ZX|(10t2]|/=4H/80ecm) 7,296 5,764 1,532 26.57%
150 10r2|/=4t/30cm) 3,273 2,812 461 16.39%
HEf(10r2]/2H A|OFLF/40¢m) 3,954 3,685 269 7.31%
QAO|(10r2]|/3H-S/30cm) 4,562 4,395 167 3.80%
% (20kg) 57,890 59,560 |- 1,670 -2.80%
e = 4/1kg) 3,597 3,298 299 9.07%
LIt (1kg) 3,085 2,276 809 35.56%
7tOHS (1kg) 9,360 9,820 |- 460 -4.68%
A 7tF (58 =/1kg) 1,469 1,470 |- 1 -0.07%
2 ((152/300g/3 At JUﬂl 1,066 1,068 |- 2 -0.19%
MEE AE8018L/E7E 5,930 5,403 527 9.75%
(142 5) =18 36OmQ/ADH7.§1) 1,295 1,295 - 0.00%
O 2= (19 500me/A 01 ) 1,485 1,485 - 0.00%
A (1Y 360me/2] Al 4,000 4,000 =3t
I3H’<(1 B 500me/2| &) 4,000 4,000 =23t
3|22 (L) 1,317 1,317 - 0.00%
740(1L) 1,119 1,119 - 0.00%
S(1L) 750 750 - 0.00%
70 21 A H| A EHKPE*HIU50~2009/%LHH/9|M) 12,000 12,000 H 3t
(28F) | A £(150~200g/=LiLt/2l4) 12,000 12,000 3t




